

Du 21 st monday 1:30 - 3:30 pm Find Exam: V = { V & IR" | Av = Xv } where A is some men metrix and he IR. So if Vx = {o}, then & u an eigenvalue and Vx is called the eign space. Them A motion A is diagonalisable (D = SMS) 5 = (v,...vn) matrix of eigenvetor basis # us = dim (U) = geom mult = alg mult eigenverters If of repeats of & m det (A-XI)

How come A acts diagonaly on a basis of eigenvectors?

Suppose 
$$\sqrt{1.1.1.1}$$
 is a basis of eigenvectors, can this  $\beta$ .

 $\chi_{\beta} = C_1 v_1 + ... + C_n v_n = \begin{pmatrix} c_1 \\ c_2 \\ c_n \end{pmatrix}_{\beta}$ 

 $\begin{array}{lll}
A\vec{x}_{\beta} &=& A\left(C_{1}\vec{x}_{1} + ... + C_{n}(A\vec{x}_{n})\right) = C_{1}\left(A\vec{x}_{1}\right) + ... + C_{n}(A\vec{x}_{n}) \\
&=& C_{1}(A\vec{x}_{1}) + ... + C_{n}(A\vec{x}_{n})
\end{array}$ 

 $= \begin{pmatrix} \lambda_1 & C_1 \\ \lambda_2 & C_2 \\ \vdots \\ \lambda_n & C_n \end{pmatrix}$   $\downarrow A \vec{\chi}_{\beta} = \begin{pmatrix} \lambda_1 & \lambda_2 & C_1 \\ \lambda_2 & C_2 \\ \vdots \\ \lambda_n & C_n \end{pmatrix}$ How did A act on  $\beta$ -coordinates

· Complue eigenvalues.

 $dut(A-\lambda I) = C_n \lambda^n + c_{n-1} \lambda^{n-1} + ... + c_1 \lambda + C_0$ 

 $= C_{\Lambda} \left( \lambda - \lambda_{1} \chi \lambda - \lambda_{2} \right) \dots \left( \lambda - \lambda_{n} \right)$ 

But not every polynomial is factorable over R.

 $A = \begin{bmatrix} 0 & 1 \\ 1 & 0 \end{bmatrix} \quad \text{det} \begin{pmatrix} 0 - \lambda & -1 \\ 1 & 0 - \lambda \end{pmatrix} = \begin{pmatrix} -\lambda \lambda^2 - (-1)(1) \\ -\lambda^2 + 1 \end{pmatrix}$ 

oh  $\lambda_1 - \lambda_n$  are my eigenvalues.

E. G.  $\lambda^2 + 1$  does not factor into real linear terms.'  $\lambda^2 + 1$  is irreducible in REAT)

The set options

- \lambda^+ \

In fact 
$$det(A-\lambda I) = \lambda^2 + 1 = (\lambda-i)(\lambda+i)$$

$$(\lambda-i)(\lambda+i) = \lambda^2 - i\lambda + i\lambda + (-i)(i) = \lambda^2 + -i^2$$

$$= \lambda^2 + 1$$

If  $\lambda$  is not a real number, what does that mean for  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  and  $\lambda = 1$  are  $\lambda = 1$  ar

iff a basis of eigenveturs A is diagonalizable dim (VX) = alg mult in C<sup>n</sup> iff Find the eigenvalues and  $A = \begin{pmatrix} -1 & 0 & -2 & 0 \\ 5 & 1 & 4 & 0 \\ 1 & 0 & 1 & 0 \\ -1 & 0 & -8 & 1 \end{pmatrix}$ eigespaus. No docu our R 1 But it works wer C4 dux (A - XI) = 24 - 223 + 222 - 22 +1 (remember long division)  $= (\lambda - 1)^{2} (\lambda^{2} + 1)$ λ = i, -i each have als mult = ) als mult is 2

$$V_{i} = \text{Ker}(A - i I) = \text{Span}\begin{pmatrix} 5 - i \\ -13 \\ 26 \end{pmatrix}$$

$$dim(V_{i}) = 1 = \text{geom}$$

$$dim(V_{i}) = 1 = \text{geom}$$

$$dim(V_{i}) = 1$$

$$dim(V_{i}) = 1$$

$$els mult = 1$$

$$els mult = 1$$

$$dim(V_{i}) = 1$$

$$els mult = 1$$

$$dim(V_{i}) = 2$$

$$els mult$$

$$A \text{ is diagonalizable};$$

$$eigeneums$$

$$S = \begin{pmatrix} 5 - i & 5hi & 60 \\ -13 & -13 & 10 \\ -3 - 2i & -3thi & 60 \\ 26 & 26 & 01 \end{pmatrix}$$

$$Ex \begin{pmatrix} 0 & 1 \\ 0 & 1 \end{pmatrix} \qquad \begin{pmatrix} geom mult \\ \lambda = 0 \end{pmatrix} = 1$$

$$But \quad det(A - \lambda I) = -\lambda^3$$

$$\lambda = 0, 0, 0$$

( 0 0 0 ) N = ( 0 )

Interesting Facts Prop A is not invertible iff  $\lambda = 0$  is an eigenvalue. Suppose  $\lambda = 0$  is an eigenvalue of A. 1° = m(x) + 0 AHI (=) At not existing (=) A comet now reduce Let A be an non matrix. Then 1) det  $(A) = \lambda_1 ... \lambda_n$ 2) tr(A) = \( \lambda\_1 + \lambda\_2 + \lambda\_1 + \lambda\_2 \) 3) A is positive definite iff \(\lambda\_i > 0\) for all \(\lambda\_i\).

Def let 
$$A$$
 be a new matrix.  
 $+r(A) = \sum_{i=1}^{n} a_{ii}$ 

$$= a_{ii} + a_{22} + \dots + a_{nn}$$

$$= 3 + 2 + (-1) = 4 \quad (symmetries & shopps)$$

$$= \lambda_1 + \lambda_2 + \lambda_3 \quad somehow??$$

$$= \lambda_1 + \lambda_2 + \lambda_3 \quad \text{Somehou?}$$

$$A = \begin{pmatrix} 0 & -1 \\ 1 & 0 \end{pmatrix} \quad \text{dut}(A) = \begin{pmatrix} 0 & 0 & -1 \\ 1 & 0 \end{pmatrix}$$

$$\lambda_1 = \hat{i}_1 \quad \lambda_2 = -\hat{i}_2$$

tr(A) = 0 +0 =0

 $\lambda' + \gamma' = \gamma' + (-i) = \square$ 

dir (A) = 0 - 0 - (-1) - 1 = 1  $\lambda_1 = i_1 \quad \lambda_2 = i_2 \quad \lambda_1 \lambda_2 = i_2 \quad (-i_1)$   $\lambda_1 = i_1 \quad \lambda_2 = -i_2 \quad \lambda_1 \lambda_2 = i_2 \quad (-i_1)$   $= -i_1 \quad = -i_2 \quad = -i_1 \quad = -i_2 \quad = -i_2 \quad = -i_1 \quad = -i_2 \quad = -i_2 \quad = -i_2 \quad = -i_1 \quad = -i_2 \quad = -i_2 \quad = -i_2 \quad = -i_2 \quad = -i_1 \quad = -i_2 \quad = -i$ 

= dut

Pf dut 
$$(A - \lambda I) = (C_n)^n + (C_{n-1})^{n-1} + ... + C_n\lambda + C_0$$

possibly complex notes

$$= (C_n)(\lambda - \lambda_1)(\lambda - \lambda_2) ... (\lambda - \lambda_n)$$

what is the coefficient in front of  $\lambda^n$ ?

$$det(A - \lambda I) = det(A_n - \lambda I) = det(A_n - \lambda I) = (A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + ...$$

$$= (A_n - \lambda)(A_n - \lambda I) ... (A_n - \lambda I) + .$$

$$dut(A - \lambda F) = (-1)^{n} \lambda^{n} + (+1)^{n-1} (a_{11} + a_{22} + \dots + a_{nn}) \lambda^{n-1}$$

$$+ \dots + Co$$

$$= (-1)^{n} (\lambda - \lambda_{1})(\lambda - \lambda_{2}) \dots (\lambda - \lambda_{n})$$

$$= (-1)^{n} \lambda^{n} + (-1)^{n-1} (\lambda_{1} + \dots + \lambda_{n}) \lambda^{n-1} + \dots$$

$$+ \lambda_{1} \dots + \lambda_{n} = a_{11} + \dots + a_{nn} = + h(A)$$

$$\lambda_{1} + \dots + \lambda_{n} = a_{11} + \dots + a_{nn} = + h(A)$$

HW 10 Poster!

$$\sqrt{1}$$
,  $\sqrt{2}$ ,  $\sqrt{3}$  find a matrix A in  $\sqrt{1}$ ,  $\sqrt{2}$ ,  $\sqrt{3}$   $\sqrt{3}$   $\sqrt{2}$   $\sqrt{3}$   $\sqrt{3}$ 

$$L(y) = \begin{pmatrix} x - 4y \\ -2x + 3y \end{pmatrix} = \begin{pmatrix} 1 - 4 \\ -2 & 3 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix}$$

$$B = S^{1} \overrightarrow{A} \overrightarrow{S}$$

(U) 
$$B = \begin{pmatrix} 1 & -1 \\ 1 & 1 \end{pmatrix} - \begin{pmatrix} 1 & -1 \\ -2 & 3 \end{pmatrix} \begin{pmatrix} 1 & -1 \\ 1 & 1 \end{pmatrix}$$

$$L\begin{pmatrix} 1 \\ 1 \end{pmatrix} = \begin{pmatrix} -3 \\ 1 \end{pmatrix} \qquad L\begin{pmatrix} -1 \\ 1 \end{pmatrix} = \begin{pmatrix} -5 \\ 5 \end{pmatrix} \qquad \begin{pmatrix} 1 & 5 \\ 1 & 5 \end{pmatrix}$$

Complete ergentation

geom must = als must

$$\begin{pmatrix}
-1 & 2 \\
3 & 1
\end{pmatrix}$$

$$aur( -1 - \lambda )^{2} = (-1 - \lambda)(1 - \lambda) - 6$$

$$= \lambda^{2} - \lambda + \lambda - 1 - k$$

$$= \lambda^{2} - \lambda + \lambda - 1 - k$$

$$= \lambda^{2} - 7 = 0$$

$$\lambda = \sqrt{7}, -\sqrt{7}$$

$$= span( 1+\sqrt{7})$$

$$= span( 1+\sqrt{7})$$